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a) f(x.y) =x3—6x2 + x2y2 — y2 b) f(x.y)=—>
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a) BOBEZ x &z D2EHEBUEHT, Tz Vix,z) £EBL. Vix,z) ZERNICEZTRE.

b) BAE V(x,z) Z88IE D = {(x,z) |0 <2z < x,2xz < a?} ETEZXD. V(x,z) DRMHZSTEL, DR
(CHITDBRRR (TRTDRMHIH 0 (CIFDR) ZRHLK.

) ETRPIBRRUCSNT V(x,z) PRRICHFDZEEDBHD. V(x,z) D D [CHITDRAMBZKRDEK.
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d) BOBEZ x,y,z D3 BHEABEHT, Vix,y,z) £EL. Lagrange DEFEZAL, V(x,y,z) B
xy = a? EOVDRRFUED T TRAICEDE DG x, y, z ZARDEK.

SHESOMABEN u(x, y) = x1yi TEXONTNDETD. TOES, 40x + 18y = 120 EVSHRH
DEETHAR u(x,y) ZRKRICT DL DA (x, y) Z Lagrange DITELACKDRDH K.
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a) 3x—1 =1t EEVTRHKL. b) V3x—1=1tEBVTKRHLK.
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a) /x(3x+2)dx b) /xl(igx dx
c) /(x + De* dx d) /log(x + 1)dx
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SICUTESNCERBE 17 DEE FIBEANEC—HT DHESR L.

(9] BHARBIZRULTRDBRERDL.

i x —log(1 + x) . A+ x—1—x
a) lim —————= b) lim
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